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2.3.1 BHERELS
SHTFHAETHFa, %=1, ORFERENM,
WFETESHFa, a'=-, a2=—, ad=—, LUK,

1
axal=ax=-=1,
a
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23.2 BEHIMR
f5]: If 3x = 81 and, 2X*Y = 64 then § =
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1. If nis a positive odd integer and k=n3+2n,what is the value
of (-1)k-(-1)k+1?
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2. Quantity A: 27-8

Quantity B: 81-°
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3. Quantity A:

Quantity B: %
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4. N=824xwhere x is a positive integer.

Quantity A: the number of possible values the units digit of N

Quantity B: 4

www.koolearn.com



5. m=1032+2, when m is divided by 11, the remainderisr.

Quantity A: r

Quantity B: 3
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6. Quantity A:3/270-3/10

Quantity B:3/80
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7.s and t are positive integers, and 325=2t

Quantity A: -

Quantity B: -
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8. If n=23, then nn=

www.koolearn.com




9. x and m are positive numbers, and m is a multiple of 3.

Quantity A: =

Quantity B: X3
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x(x)'?

10. Which of the following is equivalent to
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2X7Y
2x+y

11. Which of the following is equal to
y?

for all integers x and
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12. If 10x equals 0.1 percent of 10¥, where x and y are integers,
which of the following must be true?
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13. If tis an integer and 8m=16%which of the following
expresses m in terms of t?
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14. x>0 and x#1

Quantity A: (2x4)-3x2

24x

Quantity B: o
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